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Which one is not a type of entrepreneur?
a) Technical entrepreneur.

b) Corporate entrepreneur.

c) Political entrepreneur.

d) Business entrepreneur.

Who has given the concept of entrepreneurship?
a) Richard Max

b) C.K.Prahalad

¢) Richard Cantillon

d) Peter Drucker

Which of the following statements are
correct about infrastructure?

1. It refers to system in place which allows
efficient function of business activities.

2. DMRC is best example of super-
infrastructure in transportation sector.

3. Silk Road project being implemented by
UNWTO

Select the correct answer using the codes
given below:

a) 1&2

b) Only2
c) Onlyl
d 1,2&3

Formation of Airport Authority of India?
a) 1902
b) 1990
c) 1996
d) 1995

WTTC was established in-
a) 1990
b) 1995
c) 2000
d) 1985

The concept of Tourist Area Life Cycle
(TALC) was proposed by

a) R.W Butler
b) S.Plog

c¢) E.Cohen
d) Stanfield
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EIA extends for-

a) Ecological Impact Assessment

b) Economic Income Analysis

¢) Environmental Impact Assessment
d) Energy IndiaAssociation

AMTRAK is the marketing name for the
National Railroad Passenger Corporation, an
operating railroad corporation, the controlling
stock of which is owned by —

a) USA
b) Singapore
c) India
d) Australia

Stanly Plog’s model of destination
preferences not includes?

a) Psychocentrics
b) Geocentrics
¢) Midcentrics
d) Allocentrics

Consider the following statements

1. International Civil Aviation Organization
(ICAO) is United Nation (UN) related
organization.

2. Silk Road Program being implemented
by UNWTO

Choose the right option—
a) Only 1 is correct

b) 1&2arecorrect

c) only2iscorrect

d) Noneiscorrect

Accordingto TALC

1. Destination evolve through S-identity
steps

2. The first stage of TALC is development
stage

Select the right option-

a) 1&2

b) 1Only

c) only2

d) None
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The concept of Grand tour originated in—
a) USA

b) India

¢) Europe

d) Asia

The costliest class in International flight is?
a) F
b) Y
c) J
d) C

UNWTO works are related to-
1. Competitiveness

2. Sustainability

3. Povertyreduction

4. Capacity Building

a) 1&2

b) 3&4

c) 1,2,3&4

d 1,2,&3

ICPB extends for—
a) Indian Council of Promotion Bureau
b) India Convention Promotion Bureau

c) International Conference Promotion
Board

d) None

Avis & Hertzis U.S. based —
a) CarRental company

b) Bus Company

¢) Hovercraft

d) Can’tsay

TRIPS extends for-

a) Trade Related Aspect of Intellectual
Property Rights

b) Tourism Related Information Provider
Services

¢) Trade Related Intellectual Power Society

d) Trade Related International Process
System
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Corporate Social responsibility is also know
by —

1. Corporate Accountability

2. Corporate Citizenship

3. Responsible Entrepreneurship

Select correct option

a) 1&2

b) 1,2&3

c) only3

d 1&3

Which of the following is not related to CSR-
a) Responsible competitiveness

b) Responsible Entrepreneurship

c) Corporate Sustainability

d) Ecological and Cultural Diversity

What are the factors which influence the
company for CSR initiatives —

1. Sustainable Development
2. Globalization

3. Corporate Ethics

4. Global Slowdown

Select the correct option

a) 1&3

b) 1,2&3

c) 1,23&4

d) 1&4

Consider the following statements —

1. The right to rest and leisure , including
periodic holiday with pay, is enshrined in
universal declaration of Human Right

2. The Global Code of Ethics for tourism
was officially recognized by United
Nation General Assembly in 2001

Choose the correct option
a) 1&2

b) only2

c) onlyl

d) None
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The correct historical sequence of Jafari’s
four platforms is:

a) cautionary, adaptancy, advocacy,
knowledge-based

b) advocacy, adaptancy, cautionary,
knowledge-based

c) cautionary, advocacy, adaptancy,
knowledge-based

d) advocacy, cautionary, adaptancy,
knowledge-based

Which of the following is not true with regard
to the status of global tourism in 2019?

a) over 200 million jobs were dependent on
the tourism economy

b) there were less than 2000 million
domestic tourist trips

¢) there were about 1300 million
international trips of at least one night

d) the ‘tourism economy’ accounted for
more than $5.5 trillion

Which one of the following is not an obstacle
to the development of tourism as an academic
field of study?

a) lack ofindigenous theory
b) lack ofreliable data

c) perception oftourism as a vocational field
of study

d) proliferation of refereed academic
journal

The synthesis of perspectives from various
disciplines into a distinctive new ‘tourism
perspective’is known as the?

a) interdisciplinary approach.
b) multidisciplinary approach.
c¢) disciplinary approach.

d) methodological approach.

The ‘basic whole tourism system’ is
associated with

a) Jafari.
b) Weaver & Lawton.
c) Butler.
d) Leiper.
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International ‘stopover’ tourists

a) are mostly found in major international
airport hubs.

b) normally clear customs when they arrive
atatransitlocation.

c) have a major economic impact on the
tourism economy.

d) remain classified as such even if they
clear customs and immigration in the
transit location.

Which one of the following does not

accurately describe the 2003 SARS crisis in

Hong Kong?

a) The extremely dramatic effects were
disproportionate to the actual threat.

b) The response from industry was
indicative of a panic mentality.

¢) The government was well prepared, and
responded effectively to the crisis.

d) The media played a major role in
spreading panic about SARS.

Which of the following is not a major ‘secular
pilgrimage’ site?

a) Graceland

b) Stonehenge

c) Mecca

d) Uluru

A ‘basic whole tourism system’ includes
a) atleasttwo transitroute regions.
b) no more than one tourist.

c) atleast one tourist-generating region, but
multiple destinations.

d) at least one tourist-generating region and
one tourist destination.

‘Stayovers’ and ‘excursionists’ are categories
mostrelevant to

a) the ‘travel purpose’ component of the
tourist definition.

b) tourist-generating regions.

c) the ‘spatial component’ of the tourist
definition.

d) the ‘temporal component’ of the tourist
definition.
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c) UNDP

d) UGC
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Which one of the following statements does
not apply to domestic tourism?

a) It is roughly 10 times larger than
international tourism in terms of tourist
numbers.

b) It is easier to quantify than international
tourism since it occurs within a single
country.

c) Distance thresholds usually separate
domestic tourists from other travelers.

d) Domestic tourists redistribute wealth
from one part of a country to another part
ofthat country.

With regard to the location of major tourism
industry sectors within the tourism system:

a) most are dominantly found within
destination regions.

b) origin regions are the main location for
travel agencies, transportation, and tour
operators.

c) none are found within origin regions in
any significant way.

d) origin, transit and destination regions are
equally important.

All of the following are innovations
associated with Thomas Cook, except

a) all-inclusive tour packages.
b)
c) creditcards.

d) organised itineraries based on rigid time
schedules.

uniform tourism products of high quality.

The fact that tourism services cannot be
produced and stored for future consumption
indicates the quality of

a) variability.

b) intangibility.
¢) perishability.
d) inseparability.

Which of the following is an ‘Acronym’ of
Established related to India only?

a) UNESCO
b) UNO
c¢) UNDP
d) UGC
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‘Premodern tourism’ occurred roughly from
a) 1500ADto 1950AD.

b) 3000 BCEto 1500AD.

c) 3000 BECto1950AD.

d) 0ADto 1500AD.

Between 1950 and 2019, international
stayover arrivals increased approximately
from

a) 25millionto 1500 million
b) 25millionto 1760 million.
c) 100 millionto 1760 million.
d) 25millionto 1260 million.

The idea of taking a vacation so that one can
be amore efficient worker is known as?

a) the ‘work in order to play’ philosophy.
b) the ‘earned time’ effect.

c) stage 1 of the ‘tourism participation
sequence’.

d) the ‘play in order to work’ philosophy.

In aviation history, 1976 is important because
ofthe

a) appearance of the first passenger jet
aeroplane.

b) emergence of the first charter flights.
¢) introduction of'the first jumbo jet.
d) ntroduction of the supersonic Concorde.

Allocentric’ tourists are also known as
a) dependables.

b) centrics.

c) venturers.

d) loyalists.

The third stage of international tourism in the
contemporary era consists of movement
from

a) MDCsto other MDC:s.
b) LDCsto other LDCs.
¢) LDCstoMDCs.

d) MDCstoLDCs.



103.

104.

105.

106.

107.

108.

q4-& yyTe FafaRad & 9 {69 ga eR& °
T 31 A G 82

a) [oHIfdS Ugd

b) THYUT &I ITTIAT

) ifq, fRRar 3R QRa

d) SR ¥ Hfers Fdear

TGN fAUTST &1 fohdah! Uga GRT a1
ST G ?

a) 'gS U

b) TRMAR M TT"

c) T3

d) garss'

Tefe T[ure YIS’ fhe s 82

a) U + AT UHI|

b) (39TE + URd YHTa) - (AT + ) |
¢) U + URa gHIa|

d) UE + TFe + URd HmE|

fafafed asta gt & § SH-91 U6 Ted ®id
& =g H 30! Tt Farft SEen & 9 HH
Y SR 82

a) WY 3R 3NBIHI

b) 3fTbIhT 3R 3MRGBT

c) TRME/IIT 3R bl

d) TRmm/u=Id SR R

SRS ara<lf feaw Fa H=maT SiraT 87
a) 20 30d

b) 20 3fagsR

c) 207

d) 209dsR

3T =1 & GRITUD DI 872
a) dferd gt

by fodit 9@

c) Fdw sprara

d) I zHf

22

103.

104.

105.

106.

107.

108.

The ‘distance-decay effect’ is most directly
related to which one of the following pull
factors?

a) political accessibility

b) availability of attractions

c) peace, stability and safety

d) geographical proximity to markets

‘Multilevel segmentation’ is represented by
the identification of

a) ‘olderadults’.

b) ‘Asianolderadults’.
¢) ‘JohnDoe’.

d) ‘youngcouples’.

The tourism ‘multiplier effect’ is composed
of

a) direct+indirectimpacts.

b) (indirect+induced impacts) — (imports +
savings).

¢) indirect+induced impacts.

d) direct+indirect+induced impacts.

Which one of the following regional pairings
is under-represented as a tourist destination
relative to their cumulative resident
population?

a) EuropeandAfrica

b) Africaandthe Americas

c) Asia/Pacific and Africa

d) Asia/Pacific and Europe

When is International’s Chef day celebrated?
a) 20thApril

b) 20th October

c) 20thMay

d) 20thNovember

Who is the founder of Oyo Rooms ?
a) LalitSuri

b) Binny Bansal

¢) RiteshAggarwal

d) Rakesh Sharma
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a) T foh Tl g
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€) T8 TTER IS I AUy

d) 5 I P T

299 Toic TR F1 gfiawd exem?
a) FTTA

b) UFTAA

o UFTA

d) FTTU

23

109.

110.

111.

112.

113.

114.

The opposite of ‘basic research’is
a) Pureresearch

b) Longitudinal research

c) Secondary research.

d) Appliedresearch

A business lounge will be found in a

a) Independent Hotel
b) Resort Hotel

c) Business Hotel

d) None ofthese

Earliestlodging places are called
a) Inns

b) Restaurants

c) Motels

d) None ofthese

American service is otherwise called
a) Guardian Service

b) Plate Service

¢) Chain Service

d) Noneofthese

What is the main feature of a time share
establishment?

a) isaprivate property

b) Itsrooms/resources are shared by guests
/ tourists according to specified time
schedules

c) Itisafacility of one star grade
d) None ofthese

Universal federation of travel agents
association

a) FTTA
b) UFTAA
¢) UFTA
d) FTTU
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117.
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YR Jd & afad [@ss3n) HTs aral dAfad ol
HRA ¥ fobdm g9a & dien fierar 8

a) ©gHgHI

b) = wEH

) 9|

d) ©g drd
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& | forgd gR1 5 91 & forg ) ot 872

a) @ HATT

b) Tded HATTd

¢) MRS IgT HATT

d) pfa Hara

& glcd 4Tl §

a) U g8 ¥ S gled

b) I % g FHgl/HTN & gled

) fafia ==t & gieal arel Iqg &1 fewn
d) BIcgled

ers i RV R e o S
a) W-Idra- Ul

b) & 3fqvex ufdhar

¢) HME® Ide Ufthar
d) IWRiad It

KOT 3R BOT &

a) HIoH 3R A1 U7 3ifeR fedbe

b) YIS 3R ATGs U & forg e fedpe

€) &R H HiSH ® & oY Use® umar fiewme
d) W 3R AeH UG Wi RbIs

fafaRad & 3 f5Y UsR & gled 3i+ic/3/aehTal
It B gay i BN Bl ?

a) dTs 3¢ & Bled

b) feiié glea

¢) SEY gled

d) H9Y[ gled
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117.
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119.
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A person with Person of Indian Origin (P10O)
card gets visa in India for

a) Sixmonths.
b) Nine months
c) Two Years
d) Six Years

The recognition as an approved travel agency
in India is granted initially for 5 years by?

a) Ministry of Railways

b) Ministry of Tourism

¢) Ministry of Civil Aviation
d) Ministry of Culture

Ahotel chain s
a) Hotels connected to each other

b) Hotels in difficult centers/parts of the
country

c) Part of a group with hotels in different
locations

d) Small hotels

S.O.P. stands for

a) Self-Operating Procedure

b) Service Operator Process

c) Standard Operating Procedure
d) Allofabove

KOTand BOT are
a) foodand alcoholic drinks order ticket

b) Complimentary ticket for food and
alcoholic drinks

c) Managers entitlement ticket to dine in
restaurant

d) Foodand alcoholic drink stock record

Which of the following types of hotels would
likely appeal most to pleasure/ leisure
travelers?

a) Airporthotels
b) Resorthotels
¢) Residential hotels
d) Convention hotels



